习题课第6次作业主要错误点

Question 1
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issues：
in question c，lot of students didn't correctly calculate the derivative of function by using derivation rule of composite function.
[image: ]
Answer:
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Question 2
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issues：
very few students regarded inverse function as reciprocal function.
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96. (a)If f(z) =2®+a®+a, find f7'(3) and f'(-1).
(b)If h(z) = -+ ¥/, find h-'(10) and h'(2).
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. (a)If fal=2l 2 + =, find/f ' (3Dwd f7(-1).
(b)If h(x) = =+ ¥z, find h~"(10) and h (D).
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(a) f71(3) =1land f~}(-1)=—1.
(b) h71(10) =8 and h71(2) = 1.
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93. Differentiate the function.
(a) f(z) =z +zhnz (b) f(x) (“z)
(c) f(x) = In(cos z) (d) f(z) = Vinz
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(c) f(z) = ln(wa;r)
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